
Instruction to Candidates

1. CP Star Test consists of total 50 questions and has been divided in three sections as follows:

CP Star Test isij esa dqy  50 iz’u gS vkSj budks rhu Hkkxksa esa foHkkftr fd;k x;k gSA

a. Science 24 Questions Que. No. 01 to 24

b. Maths 16 Questions Que. No. 25 to 40

c. Mental Ability 10 Questions Que. No. 41 to 50

2. All questions are compulsory.

3. All the answers will be encircled in OMR sheet which is being provided along with this paper.

4. For every correct answer marked by you, 4 marks will be allotted.

5. For every incorrect answer marked by you, 1 marks will be deducted.

6. Use of calculator is not permitted in any case.

7. Any kind of malpractice will expel you from exam immediately.

8. For any confusion please talk to the invigilator in the examination hall.

Duration : 1.00 hours                                                                     Maximum marks : 200

CLASS - 8th

SCHOLARSHIP EXAM - 2021
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SECTION - A [SCIENCE]

1. fuEufyf[kr esa ls dkSu /ofu mRiUu ugha djrk gS\

(1) ikuh esa ct jgh ?kaVh

(2) fcuk fdlh xq¡t ds dejs esa pykbZ xbZ canwd

(3) jcj dk ,d gFkkSM+k ekjus okyk CykWd

(4) ckgjh varfj{k eas ,d foLQksV

2. fuEufyf[kr esa dkSu fctyh dk lapkyu ugha
djrk gS\

(1) CuSO
4
 foy;u (2) xzsQkbV

(3) vEyhÑr ty (4) Bksl NaCl

3. czsy iz.kkyh esa fdrus MkWV iSVuZ ;k v{kj gkssrs
gS\
(1) 23 (2) 46

(3) 63 (4) 86

4. rkacs dh /kkrq ds lkFk yksgs dh dhy ij
bysDVªksIysfVax ds fy, vki fdl bysDVªksykbV
dk mi;ksx djsaxs\

(1) dkWij vkWDlkbM (2) vk;ju lYQsV

(3) dkWij lYQsV (4) vk;ju ukbVªsV

5. ,d ikWfy,LVj diM+s dks xeZ yksgs ls L=h ugha
fd;k tkuk pkfg, D;ksafd&

(1) ;g fcty dh cckZnh

(2) ,d fi?ky tk,xk

(3) ;g vkx idM+ ysxk

(4) ;g jax NksM+ nsxk

6. ,d vPNs bZa/ku esa Toyu rkieku gksrk gS vkSj
Å"eh; eku tks Øe'k% gS&

(1) fuEu vkSj mPp (2) fuEu vkSj fuEu

(3) mPp vkSj mPp (4) mPp vkSj fuEu

1. Which of the following does not produce a
sound?

(1) A bell ringing under water

(2) A gun fired in room with no echoes.

(3) A hammer hitting block of rubber

(4) An explosion in outer space.

2. Which of the following does not conduct
electricity?

(1) CuSO
4
 solution (2) Graphite

(3) Acidified water (4) Solid NaCl

3. How many characters or dot patterns are
these in a braille system?

(1) 23 (2) 46

(3) 63 (4) 86

4. Which electrolyte would you use for elec-
troplating on iron nail with copper metal?
(1) copper oxide
(2) iron sulphate
(3) iron nitrate
(4) copper sulphate

5. A polyester fabric should not be ironed with
a hot iron because

(1) It is a waste of electricity

(2) It will melt

(3) It will catch fire

(4) It will lose its color

6. A good fuel has ignition temperature and
calorific value that are respectively.

(1) low and high (2) low and low

(3) high and high (4) high and low
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7. dkSu lh /kkrq ruq gkbZMªksDyksfjd vEy ds lkFk
vfHkfØ;k ugha djds gkbMªkstu xSl cukrh gS\

(1) yksgk (2) ftad

(3) rk¡ck (4) eSXuhf'k;e

8. vki dc dg ldrs gSa fd tkuoj foyqIr gS&

(1) tc ;g vius izkÑfrd okl esa gks

(2) tc ;g fNik gks

(3) tc nqfu;k esa dqN gh cps gksa

(4) tc ;g vc thfor ugha gS

9. thou dh ewy bdkbZ D;k gS\

(1) Ård (2) lsy

(3) vax (4) lhlse

10. fuEufyf[kr esa ls dkSu ,d bUlqysVj gS\

(1) ghjk (2) ,Y;qfefu;e

(3) flfydkWu (4) xzsQkbV

11. gekjh vk¡[k dk dkSu lk Hkkx fudV vkSj nwj dh
oLrq,adks ns[kus esa enn djrk gS&

(1) dksjksYM (2) 'osr iVy

(3) ihyk 'kkWV (4) ySal
12. vEyh; o"kkZ la{kkjd vkSj gkfudkjd D;ksa gksrh gS\

(1) ;g thfor Årdksa dks u"V djrk gS
(2) ;g pwuk iRFkj vkSj dapksa dks [kkrk gS
(3) ;g /kkrqvksa dk {kj.k djrk gS
(4) mijksDr lHkh esa dkSu lh /kkrq lcls Åij
vkSj lcls uhpa gksrh gS

13. /kkrqvksa dh fuEu o mPp izfrfØ;k'khyrk gS

(1) tLrk] ikjk (2) yksgk] rk¡ck

(3) eSXuhf'k;e] ikjk (4) lksuk] ikSVsf'k;e]

7. Which metal does not react with dilute hy-
drochloric acid to produce hydrogen gas?

(1) Iron (2) Zinc

(3) Copper (4) Magnesium

8. When can you say animal is extinet?

(1) When it is in its habitat

(2) When it is hiding

(3) When there are only a few left in the
world

(4) When it is no longer living.

9. What is the basic unit of life?

(1) Tissue (2) Cell

(3) Organ (4) Sysem

10. Which of the following is an insulator?

(1) diamond (2) aluminium

(3) silicon (4) graphite

11. Which part in our eye helps to see near and
distant objects?

(1) chorold (2) sclera

(3) yelow shot (4) lens

12. Why acid rain is corrosive and harmful?

(1) It destroy living tissues

(2) It eats up limestone and marbles.

(3) It corrodes metals

(4) All of the above

13. Which metal is at the top and at the bottom
of the reactivity series of metals?

(1) zinc, mercury (2) iron, copper

(3) magneseum (4) potassium, gold
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14. nh xbZ lkexzh esa ls fdldk mi;ksx Øe'k%
dk¡p vkSj ydM+h ds fodYi ds :i esa fd;k
tkrk gS\
(1) ikWfy;kekbM] ikWfy,LVj
(2) ikWyhekbM] ,sØsfyd
(3) ihbZVh] ,fØfyd
(4) ykbØk] uk;ykWu

15. ,yihth ds fy, xyr dFku ij igpkusaA
(1) ;g ,d xSlh; bZa/ku gS
(2) ;g /kq¡vk iSnk djrk gS vkSj iznw"k.k dk
dkj.k curk gS
(3) bldk Å"eh; eku vf/kd gS(55000 KJ/Kg)

(4) ;g vklkuh ls flfyaMjksa esa tek gks tkrk gS
16. iVk[kksa esa iz;qDr gksus okyh /kkrq dh igpiu

dhft, ftlesa tc izTofyr fd;k tkrk gS rks
,d lQsn] pedkj jks'kuh iSnk gksrh gSA
(1) rk¡ck (2) yksgk
(3) pk¡nh (4) ,eth

17. fuEufyf[kr esa ls dkSulk ok;q ds iznw"kd gS\
(i) Co         (ii) NO

2
         (iii) N

2

(1) (i) vkSj (ii) (2) (ii) vkSj(iii)

(3) (i) vkSj (iii) (4) (i), (ii) vkSj (iii)
18. js;ku fdl izdkj dk js'ke gS&

(1) 'kq) js'ke (2) v'kq) js'ke
(3) 'kgrwr js'ke (4) flaFksfVd js'ke

19. xk; ds xkscj dk dSyksjh eku (KJ/Kg esa) D;k
gS&
(1) 6000-8000 (2) 17000-22000
(3) 25000-33000 (4) 35000-40000

20. Å"eh; eku ds lanHkZ esa] dkSu lk bZa/ku mi;ksx
ds fy, csgrj gS&

(1) ,yihth (2) feV~Vh dk rsy

(3) dksd (4) ck;ksxSl

14. Which of the given material are used as a
substitute for glass and wood respectively?

(1) polyamide, polyester

(2) polyamide, acrylic

(3) PET, acrylic

(4) lycra, nylon

15. Identify and incorrect statement on LPG.

(1) It is a gaseous fuel

(2) It produces smoke and causes pollution

(3) Its calorific value is more (55000 KJ/Kg)

(4) It is easily stored in cylinders

16. Identify the metal used in crackers in which
when ignited produces a white, dazzling
light.

(1) copper (2) iron

(3) Mg (4) silver

17. Which of the following are pollutants of air?

(i) Co         (ii) NO
2
         (iii) N

2

(1) (i) and (ii) (2) (ii) and (iii)

(3) (i) and (iii) (4) (i), (ii) and (iii)

18. Which kind of silk is rayon?

(1) pure silk (2) impure silk

(3) mulberry silk (4) synthetic silk

19. What is the colorific value (in KJ/Kg) of cow
dung cake?

(1) 6000-8000 (2) 17000-22000

(3) 25000-33000 (4) 35000-40000

20. In terms of calorific value, which of the fuel
is better for use?

(1) LPG (2) Kerosene

(3) coke (4) biogas
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21. fuEu esa ls dkSu gkfudkjd lw{etho gS\

(1) uksLVksd

(2) isfuflfy;e

(3) [kehj

(4) ,Lijfxyl

22. inkFkksZa ds bysDVªkWfyfll ds fy, fdl midj.k
dk mi;ksx fd;k tkrk gS\

(1) bysDVªksLdksi (2) oksYVehVj

(3) oksYVehVj (4) ,ehVj

23. gSyh dk /kwedsrw yxHkx ds ckn fn[kkbZ nsrk gS&

(1) 75 o"kZ (2) 76 o"kZ

(3) 76 eghus (4) dksbZ ugha

24. NksVs rkjksa ds lewg dks dgrs gS&

(1) vksfj;u (2) Iyh,M~l

(3) flfj;l (4) xsVZ fc;j

21. Which of the following is a harmful
microorgenism?

(1) nostoc

(2) penicillium notatum

(3) yeast

(4) aspergillus

22. Which apparatus is used for electrolysis of
substances?

(1) electroscope (2) voltmeter

(3) voltameter (4) ammeter

23. Halley’s comet appear after nearly

(1) 75 years (2) 76 years

(3) 76 months (4) None

24. A group of small stars is called:

(1) orion (2) pleiades

(3) sirius (4) the great bear
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SECTION - B [MATHS]

25. fuEu dk eku gksxk

10 15 17
0

3 2 19

             
     
(1) 0 (2) 22.66
(3) 20 (4) 35

26.
7

3
  esa D;k tksM+k tk, ftldk ifj.kke

3

7
 gksA

(1)
21

58
(2)

58

21

(3)
47

21
(4)

50

21

27. rhu yxkrkj iw.kkZadks dk ;ksx 51gS rks iw.kkZad
Kkr djks&

(1) 16,17,18 (2) 15,16,17

(3) 17,18,19 (4) 18,19,20

28. og prqHkqZt ftlesa fod.kZ ,d nwljs ds yEcor~
gks&

(1) lekUrj prqHkqZt (2) vk;r

(3) leyEc prqHkZqt (4) leprqHkqZt

29. prqHkqZt ds dks.kksa dk vuqikr 1 : 2 : 3 : 4 rks
lcls cM+k dks.k dk eku gksxk&

(1) 1200 (2) 1440

(3) 980 (4) 360

30. ;fn ,d cgqHkqt esa 8 Hkqtk gks rks mlesa fod.kksZa
dh la[;k Kkr djks&

(1) 8 (2) 16

(3) 20 (4) 24

25. The value of

10 15 17
0

3 2 19

             
     

 is

(1) 0 (2) 22.66

(3) 20 (4) 35

26. What should be added to 
7

3
  to get 

3

7

(1)
21

58
(2)

58

21

(3)
47

21
(4)

50

21

27. Three consecutive integers add up to 51. the
integers are

(1) 16,17,18 (2) 15,16,17

(3) 17,18,19 (4) 18,19,20

28. The quadrilateral whose diagonals are per-
pendicular to each other is

(1) parallelogram (2) rectangle

(3) trapezium (4) rhombus

29. The angle of a quadrilateral are in ratio 1 : 2
: 3 : 4. Which angle has the largest measure

(1) 1200 (2) 1440

(3) 980 (4) 360

30. If a polygon has 8 sides, then the number of
diagonals it has is

(1) 8 (2) 16

(3) 20 (4) 24
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31. ;fn 5278 dk oxZ fd;k tk, rks mldh bdkbZ
vad D;k gksxh&
(1) 8 (2) 7

(3) 6 (4) 4

32. 49 dks fdrus leku fo"ke la[;k esa O;Dr fd;k
tk ldrk gS&
(1) 5 (2) 7
(3) 9 (4) 11

33. 1+3+5+7+9+11+13+15+17+19 = ?
(1) 121 (2) 120
(3) 100 (4) 110

34. ikbFksxksjl f=d ftldh lcls NksVh la[;k 8 gS&
(1) 8, 16, 17 (2) 8, 17, 18
(3) 8, 15, 17 (4) 8, 15, 16

35. 2 : 5 dk izfr'kr Kkr djks&
(1) 20% (2) 50%

(3) 60% (4) 40%

36. ;fn ,d oLrq ftldk vafdr ewY; 840 :- gS
rFkk foØ; ewY; 714 :- gks rks NwV izfr'krrk
Kkr djks&
(1) 10% (2) 15%
(3) 20% (4) 25%

37. The top-view of a cone looks like this
(1) circle (2) square
(3) rectangle (4) triangle

38. fizTe vkSj fijkfeM gksxs&
(1) polygone (2) cubes
(3) polypedrons (4) spherical shape

39. 22×23×24  dk eku gksxk&
(1) 224 (2) 2–5

(3) 29 (4) 2–9

40. 0.09×1010 dk eku gksxk&
(1) 900000000 (2) 9000000
(3) 9000 (4) 9

31. If 5278 is squared, then what will be at unit
place?

(1) 8 (2) 7

(3) 6 (4) 4

32. 49 can be expressed as the sum of how many
same odd numbers

(1) 5 (2) 7

(3) 9 (4) 11
33. The sum of 1+3+5+7+9+11+13+15+17+19 is

(1) 121 (2) 120
(3) 100 (4) 110

34. The pythagorean triples whose smallest
number is 8
(1) 8, 16, 17 (2) 8, 17, 18
(3) 8, 15, 17 (4) 8, 15, 16

35. The percentage of 2 : 5
(1) 20% (2) 50%
(3) 60% (4) 40%

36. An item marked at Rs. 840 is sold for Rs.
714 the discount % is

(1) 10% (2) 15%

(3) 20% (4) 25%

37. The top-view of a cone looks like this

(1) circle (2) square

(3) rectangle (4) triangle

38. Prisms and pyramids are

(1) polygone (2) cubes

(3) polypedrons (4) spherical shape

39. 22×23×24 is equal to

(1) 224 (2) 2–5

(3) 29 (4) 2–9

40. 0.09×1010 is equal to

(1) 900000000 (2) 9000000

(3) 9000 (4) 9
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SECTION - C [MENTAL ABILITY]

41. ihyk : uhacw : : cSaxuh : ____?

(1) lso (2) cSaxu

(3) vke (4) I;kt

42. 6 : 35 : : 7 : ___?

(1) 48 (2) 42

(3) 34 (4) 13

43. fo"ke dks pqfu,&

(1) vaxwj (2) bykbph

(3) vke (4) vukj

44. 169, 144, 121, 100, ___?

(1) 99 (2) 74

(3) 81 (4) 101

45. AE, FJ, KO, ____?

(1) PT (2) PU

(3) PV (4) PF

46. ;fn A = 1,  AND = 19 rc BAT = ?

(1) 21 (2) 20

(3) 23 (4) 22

47.
7

15

31127

?

63

(1) 190 (2) 221

(3) 536 (4) 255

41. Yellow : Lemon : : Purple : ____?

(1) Apple (2) Brinjal

(3) Mango (4) Onion

42. 6 : 35 : : 7 : ___?

(1) 48 (2) 42

(3) 34 (4) 13

43. Pick the odd one out:-

(1) Grapes (2) Cardamom

(3) Mango (4) Pomegranate

44. 169, 144, 121, 100, ___?

(1) 99 (2) 74

(3) 81 (4) 101

45. AE, FJ, KO, ____?

(1) PT (2) PU

(3) PV (4) PF

46. If A = 1, AND = 19, then BAT = ?

(1) 21 (2) 20

(3) 23 (4) 22

47.
7

15

31127

?

63

(1) 190 (2) 221

(3) 536 (4) 255
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48. fuEukafdr fp= esa f=Hkqtksa dh la[;k Kkr djks&

(1) 4 (2) 5

(3) 6 (4) 7

49. D × H : 4× 8 : : M× Q : __?

(1) 14×18

(2) 12×17

(3) 12×16

(4) 13×17

50. 21, 26, 33, 42, 53, ?

(1) 56

(2) 63

(3) 66

(4) 69

48. Find the number of triangles in the given
figure.

(1) 4 (2) 5

(3) 6 (4) 7

49. D × H : 4× 8 : : M× Q : __?

(1) 14×18

(2) 12×17

(3) 12×16

(4) 13×17

50. 21, 26, 33, 42, 53, ?

(1) 56

(2) 63

(3) 66

(4) 69




